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Aufgabe 1
Ergénze wie im Beispiel a).
a) 5,7dm =5dm 7 cm = 57 cm b) 21,51 km = km m= m
c) dm = dm cm = 89 cm d) dm = 1dm 3 cm = cm
e) 1,5 cm = cm mm = mm f) 89,8 m = m dm = dm
g) dm = dm cm = 21 cm h) 2,1 dm = dm cm = cm
i) dm=7dm8cm = c¢m j) dm =4dm 3 cm = cm
Aufgabe 2

Ergénze wie im Beispiel a).

a) 53,13 t = 53 t 130 kg = 53130 kg b) t =41t 650 kg = kg
c) t = t kg = 32990 kg d) kg — 26 kg 100 g = g
e) kg = 219 kg 180 g = g f) 303,25 kg = kg g = g
g) kg = 233 kg 50 g = g h) kg = kg g = 882300 g
) t=55t6l0kg= kg ) t= t  kg= 39500 kg
Aufgabe 3

Ergénze wie im Beispiel a).

a) 24,88 Euro = 24 Euro 88 Cent = 2488 Cent

b) Euro = Euro Cent = 6919 Cent
¢) 14,44 Euro = Euro Cent = Cent
d) 87,67 Euro = Euro Cent = Cent
e) 73,48 Euro = Euro Cent = Cent
f) Euro = Euro Cent = 6141 Cent

g) Euro = Euro Cent = 6711 Cent

h) 35,17 Euro = Euro Cent = Cent
i) Euro = 88 Euro 76 Cent — Cent

j) Euro = 59 Euro 97 Cent — Cent
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Aufgabe 4

Ergénze wie im Beispiel a).

a) 58,58 km? = 58 km? 58 ha = 5858 ha b) 23,4ha=  ha a= a
¢) dm? = 91 dm? 66 cm? = cm? d) ha = 57 ha 64 a = a

e) 16,79 dm? = dm? em? = cm? f) ha = 96 ha 31 a = a

g) ha = 74 ha 16 a = a h) ha = 28 ha 35 a = a

i) 58,35 km%2 = km®  ha—  ha

j) em? = 42 em? 91 mm? = mm?

Viel Erfolg!
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